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Linear Inequations Ex 15.4 Q1

Letx be the smaller of the two consecutive odd positive intgers, Then the other odd integer isx + 2.
Itis given that both the integers are smaller than 10 and their sum is more than 11,

x+2<l0and x+{x+2) =11

= ¥ <l0-2and 2x +2 > 11
= ¥ 28 and Zx > 9
= ¥ <8 and X::-;
= E-::X-::B
z
= ¥=57 [ ¥ is an odd integer]

Hence, the required pairs of odd integers are {5,7) and {7.9).

Linear Inequations Ex 15.4 Q2

Let x be the smaller of the two consecutive odd natiral numbers, Then the other odd integer
s X+ 2

Itis given that both the natural number are greater than 10 and their sum is less than 40,

x»10and ¥ +x + 2 <40
x »10 and 2x < 38

¥ =10and x =219

10 «<x <15

x=11,13 15,17 [ % is an odd number ]

vl

Hence, the required pairs of odd natural numbers are {11,13),(13,15),{15,17) and {17,19).
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Let x be the smaller of the two consecutive even positive integers,
Then the other even integeris x + 2
Itis given that both the even integers are greater than S and their sum is less than 23,

- ¥ a5 and ¥ +x +2 <23
= ¥ »5and 2x =21

= X?EEHCJ}{{%

= SoaX -::%=10.5

= X =68 10 [ X i3 an even integer]

Hence, the required pairs of even posiive integer are {8,8),(8,10) and (10,12).

Linear Inequations Ex 15.4 Q4
Suppose Rohit scores x marks in the third test then,

£c < EE4+ 704+ x
3
= 195 21354+ %
= 195 - 1252w
= G0 =X

Hernce, the minimum marks Rohit should score in the third testis &0.
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We have,

F, =86°F
9 3
Fr==0C, +3=2 v F =04 E2
S 1+ [ £ + }
9
=% Bt ==0C) +32
=
=5 86—32=ECI
E

sy B
5

=  9C,=5x54

o I::.1=5>-c:5-4-

= Cy=5xG=30C
Mow, F,=95F
9
Fo=Z_0C,+32
2 = 2

=5 95=ECZ+32
E
9

= B-32=20,
E
= 63=§f_?2
= 9C, =83x5
63Ix=5
C =
= 3
= C,=7x5=35C

.. The range of temperature of the solution is from 30°C to 35°C.
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We have,

2y = 30°C
3 39
F=20C +32 =20+ 32
.-2q wF-Zerz]
3
= F1=§x30+32
= F=9%x6+32
= F=54+32
= F o= 86"F

Now, C,=35C

F2=§CZ+32
= F2=§x35+32
= Fo=9x7+32
= Fa=63+32
—  F,=95F

.. Hence, the temperature of the solution lies betwesn 86°F o 95°F.

Linear Inequations Ex 15.4 Q7
Suppose Shikha scores x marks in the fifth paper. Themn,

{B?+95+92+94+X
B 5

20

x5 =182+ 186 + X
450 =568 +

450 -368 =X

B2 =x

Ly

Hence, the minimum marksis required. in the last paper is 82,

Linear Inequations Ex 15.4 Q8

We have,

Profit = Revenue — Cost

Therefore, to eam some profit, we must have
Reverue » Cost

= 2}{::-3@(”;}(

3
= EX—EX}EDD

dy —3x - 300

Xo= 3002

=5
= X o= 600

Hence, the manufacturer must sell more than 600 cassettes to realize some profit
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Let the length of the shortest side be x.
Then, the length of te longest side and third side of the riandle are 3x and 3x - 2 respectvely.

According to gueston,
perimeter of rangle = &1

M+ Ox-2+ 3wzl
T raly 2
T A3

%
Mo —
7

L !

=9

The minimum length of the shortest side is 9om.

Linear Inequations Ex 15.4 Q10
Let the quantity of water to be added to solution = x liters,

25961125+ x) < 45%0f 1125

%[1125”{] < 45

1125
100

Il

1125 +x -::EXIIES
25

1125 +x <45 =45
1125 +x <2025
X <2025 - 1125
X o =00

oy

and 45% of 1125 <20%(1125+ x)

45 30
55 ¥1125 <= (1125 +]

f #1125 <1125+ %
20

1

§x1125i1125+x

1.5=x1125 <1125 +x
18875 <1125+ x
1687.5-1125 «<x

SE25 X L (in)

I V|

Using (i) and (i}, we get 562.5 < x <300

Hence, quantity of water lies between SE2.5 litres and 900 litres,
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Let x liters of 2% solution will have to be added to 640 liters of
the 8% solution of acid.

Total quantity of mixture = (640+x)

Total acid in the (640+x) liters of mixture

2 8
—X+ —~0640
100 100

Itis given that acid contentin the resulting mixture must be
more than 4% but less than 6%.

i[ﬁ-ﬂ} +x] < (ix + iﬁ-ﬂ)} < i[{i-l() + x|
100 100 100 100

= 4[640 + x| <( 2x + 8640 | < 6[ 640 + x|

= 2560+ 4x < 2x + 8640 and 2x +8640 <3840+ 6x
= 2560 -8640 < 2x — 4x and 2x — 6x <3840 — 8640
= x <1280 and x =320

More than 320 litees but less than 1280 lhiters of 2%0 15 to be added.

Linear Inequations Ex 15.4 Q12
Let the pH value of third reading be x.

c:F".-433+?".85+}{
]

72

< 7.8

2le <748+ 785 +x <234
216 <15 33+x 223 4
2l6-1533cx 232 4-15 33
027 <x <807

by

~ The range of pH value for the third reading is lies between 6,27 and 8.07.



